N = 0l & AF & F Al A

20088 =& 1 2l LBtaH
FMN: BUNES
M FUMNES AL 3
& FR=SEHMHA
SN HB G (BH) - MRAY - BES 0l & o1& o
AAMNBE 749,408 759,862
EMNRES AFEZHI 165,321 173,155
F=0I=SHol & 150,705 156,915
2HHHX 76,505 82,515
201 B2 EH] 43,590 47,700
01 AtR2eldl 28,890 32,100
Ooget=8Hl 9,360 10,400
—QIRAAHIXI EMF S8 540 600
-JIZ2AERE 3l 2,700 3,000
-—QEESEE SASEX 2Y 1,080 1,200
—2ASCRAAMA QI 720 800
—ZEY, SAI &aE8 ¢ 4,320 4,800
OFUXXIHE 22| 2,250 2,500
- FC0TXHEH JI2ARESHI 1,800 2,000
- FONXMEH w2 222 HE 450 500
OudH 24 17,280 19,200
02 2=24H| 13,300 13,600
OF At 2,700 3,000
03 At EHI 1,400 2,000
OJtorzst=H =Hl+=24| 1,400 2,000
202 O4Hl 6,300 7,000
01 =Wl 6,300 7,000
OLHHBSHHRFINLI 6,300 7,000
203 HRF4&H 1,800 2,000
03 AHMFAHRFAY| 1,800 2,000
OANHFTHRFAHI 1,800 2,000
401 AIEHIZLROYI 14,000 15,000
04 A&HI 14,000 15,000
OSAMEL T ST AL 9,000 10,000
ES - T-TPN 74,200 74,400
302 Ol=ZTHol2a= 1,800 2,000
02 QIZteITHOHE &3 1,800 2,000
Sxol A4=2S Mols7 =8 B4 = 1,800 2,000
KNS IHRIIALS 14,616 16,240
XSO RII ALY 14,616 16,240
101 el2H] 11,016 12,240
10 JIZtH2=HSE+ 11,016 12,240
OSESFIIXdIl =H 2 3,672 4,080
OAIJHXI 24171 & &3 E3 2fY 3,672 4,080




SN BUNRS
By ANNES A

el XS RIIA (ctel &
A -3 -H2A(SH) - HEAMY - BES O AFH J| & oK Hos

Oljtzd 22 x4 o=2¢ 3,672 4,080 A408

201 LBH2HH| 1,800 2,000 A 200

01 AtS2teltl 1,800 2,000 A 200

OJzd 22Zx4 )| gxz 1,800 2,000 2200

206 M=l 1,800 2,000 A 200

01 THZHI 1,800 2,000 A200

Ojtzgt 24X 1,800 2,000 A 200

HMAES 272 F0H 22,500 25,000 A2,500

ARD =0IHAAY 22,500 25,000 A2,500

22 FEHAAA 22,500 25,000 A 2,500

401 Al &BI2C0HYI 22,500 25,000 A2,500

04 Al&dl 22,500 25,000 22,500

Oarm2 FOHAAY 22,500 25,000 22,500

HY2IZH (EUNES) 561,587 561,707 A120

ol 2y 511,207 511,207 0

ol 2gl 511,207 511,207 0

101 el | 480,127 479,527 600

09 RIAHAZZRE=S 17,015 16,415 600

Oltz g el 17,015 16,415 600

-8 50,000& » 1 = 128 600 0 600

203 HRF&H 8,880 9,480 A 600

01 JI22FHRFE 5,400 6,000 A600

OJ22ZYRFA] 5,400 6,000 A600

Jl=ZHl 50,380 50,500 A 120

J|2AH| 50,380 50,500 A120

201 Lt 21,580 21,700 A 120

01 AtS2teltl 10,680 10,800 A120

Oget=EH| 2,640 2,760 A120

- J|Et=2Hl 1,080 1,200 A120




